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Topic:- General Knowledge and Logical Knowledge

1) India has been ranked in the 2017 Human Development Index (HDI). / HIHd

faeTa gaeie @ISIeS), 2017 § YR &) T fear mar 81
1. 130t 7 130
2, 129th 7 1297
3.1320d 7 1327

4, 1315t 7 131

Correct Answer :-
. 131t 71319

2) Day after tomorrow is my birthday. On the same day next week falls *Holi’. Today is Monday.

What will be the day after *Holi’? / UREI 831 S 21 3N AWIE 331 &1 et smuft| et
AR g1 gl & 971G $7 &9 i a1 gime

1. Saturday / RIHAR

2. Friday / R[hdIR
3. Wednesday / d¥dIX

4. Thursday / T¥>dIR
Correct Answer :-

o Thursday / [¥=dIR

3) The river festival “Namami Brahmaputra” was held in 2017 in ./2017 ¥ I} ud <=
ERLER # Jmaifora fopar

1. Assam / 3{IH
2, Bihar / fo8R

3. West Bengal / BIEE ]
)



4. Sikkim / Rifdpy

Correct Answer :-

e Assam / 3HH

4) If three unbiased coins are tossed, then what is the probability of getting at least two heads? /Tlﬁ

o= FFreaer Ryad! &1 IoTar SITdT 8, df o9 A HH &1 XY 9T 311 31 1 Uiiidpdr g2

oo | leH .|_...||—l-

>
NN S

Correct Answer :-

5) Which number is written backward as 'Two thousand eight hundred and three'? / I At "=

0D ¥ fore R < g9IR 3ire 3 et Rt st

1. Bight thousand and thirty two / 3113 B9IR S

2. Eight thousand three hundred and two / 3116 BuIIR GG a
3. Three thousand eight hundred and two / I 8OIR 36 r al

4. Three thousand and eighty two / I BRSOt

Correct Answer :-
« Three thousand and eighty two / di- gSIR STt

6) Indian Women’s hockey team won the 2016 Asian Champions Trophy against which team? /

YR Afgan gie! & A f5 9 & wrg-a | g TRE IfR=g eiel, 2016 Sidl?

1. China /39

2. Japan / SITUTIH
3. South Korea / GI&I0T SIRAT

4. Pakistan / OTfep &
(3)



Correct Answer :-

e China/dH

7) If POLISH is coded PPNLWM, then how is MUMBAI coded? / Gf¢ POLISH® PPNLWMS

FifSa far orar 8, @ MUMBAT ! 1 wifsd farar s
1. MVOEEM
2. MVOFEN
3. MVOEFN
4. MVOEEN

Correct Answer :-
« MVOEEN

8) If RICH is coded NFAG, then how is FULL coded? / Gf¢ RICH®T NFAG Y HIf&d faaT i &,
al FULL DY A pifed far sRme?

1. BSIK
2. ARJK
3. BRIK

4. ASJK

Correct Answer :-

9) If COULD is coded BNTKC and MARGIN is coded LZQFHM, then how is MOULDING coded? /
IfE COULD B BNTKC ¥ BIfsd far i 7, 3T MARGIN &1 LZQFHM ¥ Sifed fopar sirar
8, 9l MOULDING & &4 sifed forar S

1. NITKHCMF
2. LNTKCHMF
3. CHMFINTK

4. LNKTCHMF

Correct Answer :-

« LNTKCHMF

10) Select the option that is true about the Statements and Conclusions given:

“4)



Statements:
Some trees are pens
All pens are erasers

Conclusions:
I. All erasers are pens
II. Some erasers are trees

/ 39 fawey &1 au= S <t f fT g w1 3k syl & a1k & I3t 8:

FHY:

PO IS PauE

It Fanas §

Ercad

Lafies Haa g

I1.POIESUS E

1. neither conclusion I nor conclusion IT follows /& FTSR8 1 3fR 7 &1 fSHY 11 3JTRU Hd §

2. both conclusion I and II follows / Aspy 1 3R 11 C:I"i\l TR B %
3. only conclusion II follows / Had fAHY 11 SR PRAT S
4. only conclusion I follows / $dd fIHY I 3IERN HRT §

Correct Answer :-

« only conclusion II follows / Had fpy 11 SR HIAT S

11) Select the option that is true about the Statements and Conclusions given:

Statements:
Some cows are animals

Some animals are monkeys

Conclusions:
I. All monkeys are cows

II. No animal is a cow

/ 39 fameu &1 Tg= Fifvre Sl fF 3T T FU=T 3ix fArseul & IR & 981 @
DY

EERIEERI

FOUY TR T

e

S

®)



1. 9t e T @

I1. DI S0 TP T 81 &

1. neither conclusion I nor conclusion II follows /- _ED[ fAspy 1 3R T Ep[ sy 11 S{FERUT HIA %
2. both conclusion I and II follows / ﬁm’?ﬁfl 3ﬁ? 1II aﬁ:ﬁ STERUT Eb_i?f %

3. only conclusion II follows / Fad [&pY 11 ST W%

4, only conclusion I follows / Had ey [ ST FRATS

Correct Answer :-

« neither conclusion I nor conclusion II follows /= &I 5B I 3R 1 g1 F5HY 11 SIFERUT TRA G

12) Some boys are sitting in a row. Raju is sitting fourteenth from the left and Ramesh is seventh
from the right. If there are four boys between Raju and Ramesh, how many boys are there in the

row? / $S TSP UP Ufad A 9 §U B | TS, A1T 3R F 149 JUTH TR 93T §3IT & 3R T, g€ 3R
g'\trm%‘ﬁuﬁtwaa%lﬁﬁwﬁ?@m%@awa@?awﬁﬁwmﬁm

1. 25
2. 17
3.20

4. 23

Correct Answer :-

13) If BELIEF is coded EBILFE, then how is BANANA coded? / Tlﬁ{ BELIEF & EBILFE ¥

PIfSd fHaT ST 8, 9 BANANA &1 H9 FIfSa fpar S
1. ABANAN
2. ANANAB
3. ANABAN

4. BANAAN

Correct Answer :-

¢ ABANAN

14) In a row of girls facing north, Reena is 10th to the left of Pallavi, who is 21st from the right end.
If Malini, who is 17th from the left end, is fourth to the right of Reena, how many girls are there in a

row? / TR B 3R e P §3 Tfepdl P Ufek H, 1 yewrdt & a1 A gwdi ¢, Wit f g ok &
213 21 afe wiferR, St P e SR A 1791 2, §91 P a0 @ 9 & at ufe & Reae wefpal 2

(6)



1. 44
2.43
3.37

4. 49

Correct Answer :-

e 43

15) In India, the ‘National Voters’ Day is observed on YR | ‘TI'@TI HdgIdl
feaw P HATIT STl 2 |

1, December 25/ 25 m

2. January 18 /18 [EEEH]
3. January 25/25 ARt

4, March 05/ 05 A

Correct Answer :-
o January 25/25 EEE|

16) Select the option that is true about the Statements and Conclusions given:

Statements:
All painters are singers
Some singers are poets

Conclusions:
I. Some painters are poets
I1. All painters are poets

/ 39 fameu &1 7= B ot 7% 3T v wy=i ok frerel & are & 98 &:

HY:

Tt R T §

T A HA e

Ay

L. 90 PR ®la g

1L 9t ReeR Hla &

1. neither conclusion I nor conclusion II follows /7 81 e 1 3R 71 & Fsm 11 SITERUI vl &
2. both conclusion I and II follows / IS 1 3R 11 G SERUI B &

3. only conclusion II follows / Had hY 11 S0 Eb_{?lT%
) ] @) -



4, only conclusion I follows / FHad fspy 1 SR RGN

Correct Answer :-

« neither conclusion I nor conclusion II follows /7 &1 F&mt 1 3R 71 & fsmef 11 ST GROE

17) Select the option that is true about the Statements and Conclusions given:
Statements:

All teachers are students
All students are professors
Conclusions:

I All teachers are professors

IL All professors are teachers

1 3% faepeu 1 a9 Hiforg St i 3T 1T wu= ok freepyl & ok 9 el &
DY
it Rrere BT 8
i B MR 3
e

1. A Rrare wieR 3

1. 9 TR e 3

1. neither conclusion I nor conclusion II follows /1 1 fFpt 1 3R 1 €t fAepef 11 S{FARUT FRAT
2. both conclusion T and IT follows / ISt 1 3R 11 G 3RV FR &

3. only conclusion II follows / Had FTspY 11 ST FXAT S

4. only conclusion I follows / Pad fHY [ 3TERI HRT §

Correct Answer :-

« only conclusion I follows / Sadl 5HY I 3THRT BT §

18) Which country hosted the 9t" BRICS Summit in 2017? / 2017 ® o9 fyoy Wi fg S #
Smaifora foeam war?

1. Russia / &Y
2. China /?ﬁq
3. Brazil / SISl

4, India / HRd

Correct Answer :-

8)



e China /Eﬂ:[

19) The Child Marriage Restraint Act was in /9T ﬁﬁ'l? JAHYU ffraa
T g o

1. 1899
2. 1929
3. 1952

4. 1973

Correct Answer :-

20) Who among the following has been described as the 'Father of Indian Aviation'? / mﬁ q

P9 U foam= &1 S99 Fe1 ot 82
1. Dhirubhai Ambani / ?-ﬁ?g'l-ﬂ_sc OEIG]

2. Raj Bahadur / XIS dglgX

3. JRD Tata / 3RS CTCT

4. Jamnalal Bajaj / STHATIIT oSl

Correct Answer :-

« JRD Tata / SSRGS €Tl

21) Rohit is seventeenth from the left end of a row of 29 boys, and Karan is seventeenth from the right
end in the same row. How many boys are there between them in the row? / 29 HSH?[ Gﬁﬁﬁﬁ%ﬁ
¢ B © T840 2 3ii¥ Sl Uiy A R S BR O Toeai gl SH ufea A s el » dra |
fra as® 32

1.3

2. data inadequate /T-":-'ET G{W%

3.5

4.6

Correct Answer :-

22) Choose the number which is different from others in the group: / 39 ﬂmm g ﬁﬁﬂ! Tl
e § Sy A R @

1.5
©)



2.6
3. 12

4.9

Correct Answer :-

23) Gandhi Sagar Dam has been built on river. /ﬂ:f‘in AR Y B T'IT:,pftN
ST AT

1. Narmada / THal

2. Chambal / &

3. Betwa / §dl

4. Mahanadi /IE'FEOF

Correct Answer :-

¢ Chambal / T

24) Directive Principles of State Policy is contained in of the Constitution of India. / I5T &

Hife Fdwe 0@, A dfliym s dffRa
1. Part Il / HIT 11

2. Part I/ HTIT 1l

3. Part IV/HIT IV

4, Part VI / HIRT VI

Correct Answer :-

e PartIvV/HYHAT IV

25) Sanchi is located in the districtof ____ . /F'i'_t'ﬁ, - e ﬁ@-ﬁ%l
1. Bhopal/“—h’qlﬁ

2. Sehore /ﬁl@?

3. Vidisha / fafGam

4. Raisen / TG

Correct Answer :-

« Raisen / JT9T



26) was declared as India’s Cleanest City in the Swachh Survekshan-2017 conducted by the
Ministry of Urban Development. / X8 fa T HaTad gIRT Smaiford T TIEUL2017 H Ca
YRT BT TG TS e " fbar T AT

1. Indore /s"a?

2. Mysuru /ﬁﬁ?
3. Varanasi / GRTORIt

4. Ahmedabad / 3gHqIdIg

Correct Answer :-

. Indore/_%;a?

27) The Indo-Tibetan Border Police Force was raised in the year ./ URa-fassa Qﬂ'ﬂTH[%I'\‘T
CRACL | wy1fte fosar war o

1. 1967
2.1948
3.1973

4, 1962

Correct Answer :-
e 1962

28) India’s first Partition Museum was inaugurated in the year L YRA P q?ﬁ fayrerT
HIETTT D1 IGaTe a8 o gaIT Tl

1. 2016
2. 1965
3.1982

4. 1952

Correct Answer :-

29) Indian Institute of Soil Science is located at i ﬂﬂ‘cﬂ'ﬂﬂ?{l’ﬁﬁﬁw o
RazI

1. Jamshedpur/\_ﬂt@?ﬂ?

2. Pune/gﬁf
3. Bhopal / Uara

(11)



4. Vadodara / 33: aXl

Correct Answer :-

. Bhopal/lﬁw

30) is the largest container port in India and is also known by Nhava Sheva. /

YR BT I T81 He-R 9608 & For =g1a1 a1 & A | of 9 wirar 8|
1. Kandla Port / ®iedl dG8

2. Kolkatta Port / BIABTA] SEE

3. Mormugao Port / HNﬁ‘II\’rﬁ LRI

4, Jawaharlal Nehru Port / SIdlgcllc] :IEN“ Gidvi‘lls

Correct Answer :-

« Jawaharlal Nehru Port / Sldlgcl¢] :IER“ GiC'&‘IIEi

31) Which of the following states was received the KRISHI KARMAN award for the 5th time in

succession in 2017 for wheat production? / fFafafeaa d & foa =g &1 2017 & ﬁE & TG &
T AR 5 9 IR F/7 FHTIRTHR UTE 3T AT?

1. Punjab / USlld
2. Jharkhand / ETR_@TS’
3. Uttar Pradesh / 3TX m

4, Madhya Pradesh / H&J TSR

Correct Answer :-

« Madhya Pradesh / H¥] Uex

32) Rani Rupmati's Pavilion is located at ./ T YA BT Hed H fuq %I
1. Patalkot / UTdTcIehIC

2. Chanderi / aéil

3. Mandu / 91§
4. Khajuraho / ¥uI} 6

Correct Answer :-

e Mandu/ Iﬂ;{

(12)



Who was honoured with Sahitya Akademi Award in 1972 for his book Buni Hui Rassi? /1972 |

Yl fohaTd < g7 55 vwd? & fore foae! Arfec STl REPR | TwT=d foam am 12
1. Bhawani Prasad Mishra / HaT-! UG (58T

2. Abdul Latif Khan / 363 €Id It &

3. Makhanlal Chaturvedi / ARGTAT Iqagl

4, Bal Krishna Sharma / dl¢] W[ Rl

Correct Answer :-

« Bhawani Prasad Mishra / HdT=! UTE fogT

34) Complete the series choosing the missing number: / U H&HT JADB T G| T

Pifore:

4,6,12, 14,28, 30,
1.32

2. 62

3. 64

4. 60

Correct Answer :-

e 60

35) Complete the series choosing the missing number: / U UEAT AP YWl G| T

HIToIT:

0, 6, 24, 60, 120,
1,210

2.220

3,215

4. 200

Correct Answer :-

36) Complete the series choosing the missing number: / T J&AT YADR YT Bl GRT

HITT:

1,3,3,6,7,9, ;12,21

1. 11

(13)



2.13
3.10

4.12

Correct Answer :-

13

37) In a certain language, Bananas are not ripe is written as Onka Pent Lepu Jima, Fruits are
ripe is written as Prefa Lepu Onka, Ripe mangoes are good is written as Lepu Jink Onka Reta.

What word represents fruits in the language. / T W PIS U ﬁ, Bananas are not ripe Cal
Onka Pent Lepu Jima forar smar %, Fruits are ripe P Prefa Lepu Onka feran strar %, 3R
Ripe mangoes are good G| Lepu Jink Onka Reta RraT SaT 81 S T H fruit® fore oy

eg BT SHIATH fomaT 71 72
1. Jink

2. Prefa

3. Lepu

4, Onka

Correct Answer :-

» Prefa

38) Madhya Pradesh Government has proposed to develop the 'Ramayana Circuit' at ./
A Y= PR A A MU Gfdhe &1 fAHRa H31 <1 uwdma fean g1

1. Sanchi / 97l

2. Chitrakoot / feF@e

3. Khajuraho / @[} 6
4. Orchcha / STRST

Correct Answer :-

e Chitrakoot / ]%HW

39) The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act was passed by

the Parliament in the year i Glﬂﬁﬁl?f St aT Glﬂ'ﬂﬁl?l ST (SATRT fFRIYS)
Srfufras w¥g grRT 9 H uria far ar o

1. 1967
2. 1976
3. 1996

4. 1989
(14)



Correct Answer :-

e 1989

40) The series given below contains a sequence of numbers. Identify the incorrect combination:

/ T2 & 7 gEar §, el $1 US HH SUTRIA T Tad ST Uganu:
2,15,41, 80,134

1. 41

2. 80

3.15

4. 134

Correct Answer :-

e 134

Topic:- Mental Ability and Mental Aptitude

1)

7

1| L

Length of a rectanoular room 15 2 —mete and width is metre. Whatis its area? / Uch HTATHIT
(=] =] q

FEY £ Fa, iﬁmaﬂﬁi—s-ré.— Tﬁm?‘lmmﬁ»fm%ﬂ

7

10

2l —Sqm

4
20—Sq.m
3 q

2) In the sequence shown below, which figure comes next? I RINE R ff, 3Tl ewﬁ P
&t emafte

(15)



O + + O + X X T
o X 0 = v
x T 1= =3 S #
1 u ol e :
a1
s #
1.
WX
.T«
=5
2.
T =
g
¥ G
3.
T 5
# @
4,

Correct Answer :-

=
n

3) In the sequence shown below, which figure comes next? I RIEE ff, 3Tt Gﬂ?ﬁf P
&t st

i HH

(16)



Correct Answer :-

4) 666.06 +66.60 + 0.66 + 6.06 + 6 + 60 ="?
1. 820.66
2.798.52
3. 805.38

4. 845.38

Correct Answer :-
e 805.38

5) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /#ﬁ'aﬂ% mﬁ, 3{&'R3f aﬁ?maﬁmwmﬁ%a%l W'\‘I’fhﬂqqg?ﬂﬁt{
i.twerg02453grewt

ii.twerg02453grewt

iil.twerg02453grewt

iv.twerq02453grewt

1. iii



6) The Product of ages of X and Y is 80 and the ratio of the ages of X and Y is 5:16. Find the present
age of Y. / X 3R Y B 3T HT UMHHT 80 & 3R X 3R Y P 3T 7T U 5:16 F1 Y Bt qaq=
3T T B

1. 32

2.16

3.4

4. 14

Correct Answer :-

« 16

7) In a group of 6 persons, when one person with an age of 30 years is replaced by another person,
the average age of the group decreases by 2 years. Find the age of the new person. / 6 fFaal & Udh

g ¥, 919 T 30 9T i &Y o= aafa & gea o wan |t g &t oivd oy 2 af e
STl 8 1 -TT e @ 3y 91 $e |

1. 16 yrs/l6a'§
2.22 yrs/22fmc
3.18 yrs/18<_:|'131C

4.20 yrs / 20 Y

Correct Answer :-

o 18yrs/183'l§

8) 5 students can finish 10 projects in 3 days. How much time will 3 students take to finish 12 projects?
/ 5 BT, 10 Wiuiae 3 faml § g1 H~ I d €1 12 Moiae &1 [T SR & e 3 B 3t - aug
TRTT?

1,12 days / 12 f&A
2.6days /6 faq
3. 10 days / 10 fa

4.4days/4ﬁ_*f

Correct Answer :-

. 6days/6fe

9) A shopkeeper allowed 5 % discount on marked price of the tape recorder. If the selling price is Rs.
1273, then what is its marked price? / T GPHGR o ¢U RPTeT & 3ifthd oI W 5% DI e Bl
3rgafa & afe faswa 9w 1273 T 8 @) w9 sifda g favamn ghme

(18)



1. Rs. 1440 / 1440 300
2. Rs. 1140 / 1140 3TY
3. Rs. 1240 / 1240 ¥UY

4. Rs. 1340 / 1340 SUY

Correct Answer :-

« Rs.1340 /1340 W

10) A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one-half of the
age of his mother. How old is the mother at present? /Eﬁiaﬁiﬂl $I g 3 A1 ATdT DI S
Pt 2/5 81 8 Ul & UYT, 9 3T HTGT P ST BT ATET BN TAA & ST ATl fvan a9 @1 22

1. 44
2. 38
3.40

4. 42

Correct Answer :-

« 40

11) Ten men and 15 women, working together can complete a piece of work in 6 days. It takes 120 days
for a man to complete the same work. How many days will one woman take to complete the same

work? / G J&Y 3fR 15 ARATE, |14 B BT Hd T TH BT Bl 6 &1 & qul 2 O &1 3t
mﬁwmﬁﬁwmﬁmﬁ?wﬁ?lGﬁﬁlﬁﬁqﬁaﬂﬁﬁwﬂ%maﬁmﬁﬁﬁ

1. 150 days / 150 f&
2. 200 days / 200 &=
3. 180 days / 180 &=

4, 125 days / 125 faa

Correct Answer :-

« 180 days /180 fa

12) Find the value of (28 +2 *3-17/17) / (28 + 2 * 3 —17 / 17) DT HIF JTd B |
1.33
2.0
3. 34
4.1

(19)



Correct Answer :-

e 33

13) In a group of players, 10 play only Cricket while 20 play only Football and 5 players play both. How

many players are there in the group? /W%WW'& 10@@%%@?%%
gﬂ'ﬁ?zo@m@mmﬁ@ﬂﬁ%&ﬁ?smﬁﬁﬂﬁ%lwwﬁﬁﬁﬁﬁm
1. 20

2. 25

3.30

4. 35

Correct Answer :-

« 35

14) The number of cars produced annually in a factory increased by 12.5 %. If 9720 cars were produced

in 1978, the number of cars produced in 1976 was: /WW H arife dR Wmm Ca)
BT 12.5% 9P 9¢ 5 | Al 1978 H 9720 HR IcTied g5 4T, Al 1976 H Iautigd d1R At

1. 7500
2. 7680

3. 10933

4. None of the above /mﬁgﬁﬁ

Correct Answer :-

15) Meera’s mother is four times as old as Meera. After 5 years her mother will be 3 times as old as she
will be. Then what is the age of Meera? /'Fﬂ?T'QﬁIIT., ﬂﬂ@'ﬂﬁﬂ@ﬁm%l qiﬂa'ﬁfaﬁ{,
D! T B TG ITDT AT A T 1 8 St | TR Ft adu omg = 82

1. 20 years/ZOa'Gf
2. 5years/5 Gl
3. 10 years / 10 99

4, 15 years/ 15 Gl

Correct Answer :-

e 10 years/ 10 9%



16) Three persons are walking from A to B. Their speeds are in the ratio of 4 : 3 : 5. The time ratio to

reach B will be:/?ﬂqﬁ,AﬁBWW@%‘lB:I?lﬂil'lﬁm?::sa‘?&lﬂ'qﬁﬁ%l Bﬁqgiﬁ?ﬂ
Y ST SRI:

1.5:3:4
2.15:20:12
3.4:3:5

4.15:9:20

Correct Answer :-
e 15:20:12

17) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafea

T IR Udl § 9 9 {3 1 yd & St 9= 19 91 v 81 82

Thorsten
Antwerpener Str. 47,

Berlin, 13353

(i) Thorsten
Antwerpener Str. 47,

Berlin, 13353

(ii) Thorsten
Antwerpener Str. 47,

Beslin, 13353

(iii) Thorsten
Antwerpener Str. 47,

Berlin, 13353

(iv) Thorsten
Antwerpener Str. 47,
Berlin, 13353

1. iii

2.1

(21)



18) On April 1, Ben had a bank balance of Rs. 99945.60. In April, he deposits Rs. 4506.70, withdraws Rs.
2390.45, again deposits Rs. 10006.55 and withdraws Rs. 7823.30. On April 30, he withdraws Rs. 15000
and deposits Rs. 75000. What is the balance in Ben's accounton May 1? / 1 Gfaﬁﬁ, o9 & U a$
WTd A 99945.60 TUY A | 370 |, 3T 4506.70 TUY AT fh, 31X 2390.45 TUY et forw, fbe
SaRT 10006.55 TUY STHT HT & 3R 7823.30 TUI BT AT 81 30 18 B @l 15000 TUA
fFrepTerar @ 3R 75000 TUY STHT HIAT 21 1 HS BI o & @Id A ford=T o Aw Igar g2

1. Rs. 44245.1 / 44245.1 3T
2. Rs. 169026.7 / 169026.7 3T
3. Rs. 179891.7 / 179891.7 ST

4, Rs. 164245.1 / 164245.1 SR

Correct Answer :-
e Rs.164245.1/164245.1 FCR?[

19) The ratio of Rahul's income to his savings is 11 : 2. What will be the expenditure, if his savings is Rs.

760? / TG B 3T T Tod BT U 11:2 81 TS TSB! 994 760 FUY & 0l 7Y T SN2
1. Rs. 1,470 / 1,470 T0Y
2. Rs. 6,840 / 6,840 ¥UY
3. Rs. 2,450 / 2,450 ¥4

4. Rs. 3,420 / 3,420 SUY

Correct Answer :-

« Rs. 3,420/ 3,420 U

20) Suresh gets Rs. 55 when a sum of money is distributed among Sachin, Vinod, and Suresh in the ratio
of 2 : 3: 1. Sachin and Vinod will receive a combined sum of ATl faadt el ﬁﬂﬁl:f,
fariie iR ¥ dlwr 2: 3: 1 F 3rgura § faafa favar war @ R=1 o1 55 3w gv1 Ife=
IR faig 3t ®1 T IR v gt

1. Rs. 220 /220 S0
2. Rs. 330/ 330 SUY
3. Rs. 275 / 275 30T

4. Rs. 550 / 550 SUY
(22)



Correct Answer :-

e Rs.275/275 300

21) Kamal can type 70 pages in 14 hours. How many pages can he type in 20 hours? / PHA 14 Hel H
70 U§ 273U B3 THdT g1 20 Hel 7 Y fFal Yg 15U &% ohdT 82

1.85
2.90
3. 100

4,110

Correct Answer :-

« 100

22) If Sujata's age will be double her present age in 16 years, how old will she be then? / 16 aﬁﬁqﬁ

YT B TG IHP! GTH ST BT GIIAT 81 S1CH o 9 39 A foba af &6t g
1. 16 years / 16 9§
2. 40 years / 40 @Y
3. 24 years / 24 9

4. 32 years / 32 ay

Correct Answer :-

e 32 years /32 ay

23) Inan institution, 2/7th of the girls and 1/3":' of the boys took part in a social camp. What part of the
total number of students in the college took part in the camp if the ratio of number of boys to that of

girls in the school is 3:7?/@@@1?%?13'%%2/7%@@?@% 1/3%@%@
HraTiores U § T feram o1 afe ase! A asfeal o1 faemay o srqurd 3:7 8 a9l Siad & SHEl
P A HBAT BT foba=r YRT &g A ufaurd >r?

1.5/7
2. 1/10
3.3/10

4.3/7

Correct Answer :-

« 3/10



24) An isosceles triangle whose sides are 13 cm, 13 cm and 10 cm long is inscribed in a circle. Find the

radius of the circle. lwmﬁﬂﬁ, GGG ‘{-FIT& 13 @'Fﬂ, 13 THT 3R 10 @'Iﬂf'ﬁﬁ%,ﬁlﬁw
g © Scpivf forar T 3 1 99 1 s sy w10

1. 7.04 cm / 7.04 9t
2. 8.05 cm / 8.05 THt
3. 4.05 cm / 4.05 T

4. 5.03 cm / 5.03 W

Correct Answer :-
« 7.04cm /7.04 99

25) If a reduction of 20 % in the price of milk allows a person to buy 10 litres more for Rs. 120, then,

what is the original price of milk? /trﬁ.'gtr%?&wﬁ zmaﬂﬁwwﬁraﬁ 120 ¥UY ¥ 10 AleX
IR g TdteA @ Al &<t § Al Y BT aRdfa® God 1 82

1. Rs. 2.5 /2.5 30U
2.Rs.5/5 30
3.Rs. 4 /4T
4,Rs.3/3%0

Correct Answer :-

e Rs.3/3300

26) If the following two squares shown below overlap, which one of the following options is formed? /

gfe frg @t o sifenfia 819 € @ P & ¥ 19 91 ve e s9ar &2

&
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27) Anand and Bindu are co-dwellers in an apartment. There are two lifts, A and B, in the apartment
but their speeds are different. Lift A goes up/down at the rate of 69 floors per minute; while Lift B goes
up/down at the rate of 51 floors per minute. One day, Anand gets into Lift A from the fifteenth floor to
ascend, while Bindu gets into Lift B from the fifty-fifth floor to descend. If they have to meet each other,
without any lapse in time, then in which floor must they have to get down? / 3(Hg 3R ﬁgwsmw
T 1Y ¥8d &1 SARG § &t forue, A 3R 8 § R S9@! e Fiw g1 v A SuR/AR 60 WitTa ufar
e Y 9 9 smefl/aTedt 3; S fiive B SwR/A 51 wifora wfa fre &) ara 9 simell/<Tdt 31
T foF, e Usgdl 4ia ¥ SR o1 F e farde a o gwar 8, wiafe g forve s & vmos
AR | 9 o & fore gl 71 9t S 3 ) fomr v vian frer @ @Y S fpa iRm
JR ST g2

1. 38
2.19
3.37

4. 30

Correct Answer :-

e 38

28) The ratio of the ages of Suresh and Ramesh is 4 : 3, The sum of their ages is 21 years.

The ratio of their ages after 6 years will be: / TR 3R A B AT BT U 4 : 3 §, T
(25)



3T HT ANTHA 21 T4 g1 6 T UYTA IAD! g BT 3JUTd THIT:
1.5:6
2.5:3
3.3:5

4,6:5

Correct Answer :-

29) Find the average. / 3a AT

44, 62, 84,98, 12 & 36
1. 50
2.57
3.48

4. 56

Correct Answer :-

* 56

30) In a city, 40% of the people are illiterate and 60 % are poor. Among the rich, 10 % are
illiterate. What percentage of the poor population is illiterate? / Td R[gR 'Ef, 40% &7 3FUG MR
60% &R TR 51 3T & 19, 10% 3FUg &1 TRIT SMardt &1 foba-n ufa=ra 3que 872

1. 40%
2. 60%
3. 36%

4, 80%

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)

(26)



In the given figure, find the value of £DAC in the quadrlateral if £ACD =v +117 and £DAC
= 3y+2 and <CAB =26°. / U av s &, =gesr H./DAC &1 HHF Ad &, IR

ZACD =y +11°Td 2DAC = 3y+2 & d2T ~CAB =26° £l

1.49°
2. 45°
3.33°
4. 47°

Correct Answer :-

. 47°

2)
The quotient when 36 a? b ¢ — 18 a* b*c? is divided by 18abc” is: /5 36a® b? ¢* — 18

a* b2 T 18abc? ¥ faemTota fEram SIar & ot sTarther g

1.2a%b% -2’ b’
2. 2ab*+a b’
3.a5-b°

4.2a%b -2 b
Correct Answer :-
« 2a%b-a3b

3) If 6 apples can be bought for Rs.32, how many apples can be bought for Rs.192? / 'Clﬁ 6

9 32 3 H WIS ST Thd g, a1 192 T ¥ fpa A9 WS & gavd 82

1.32
2. 34

3.30
(27)



4. 36

Correct Answer :-

* 36

4) Ram deposited Rs.7000 in a bank. If the rate of simple interest for 2 years is 6%, find the
amount he will get back at the end of this period. / ITH S| Udh 3% 7000 = ST ml afe 2
JUT & fIT ATYRYI TS B &R 6% &, O a8 AR fAepifere sit 59 erafy & ofd A 39 ary
firer Rt

1. Rs.7200 / 7200 ¥=
2. Rs.7840 /7840 =
3. Rs.8000 / 8000 &=
4, Rs.8250/ 8250 &

Correct Answer :-

« Rs.7840/7840 %

5) Simplify: / G DIOTT:
(3x +4y) (3x—4y) — ( 2x +6y)( x + 2y)

1.5x%2 - 10 x y

2. 5x% 28 y2

3. 7x2 - 10 X y-28 y2
4.10xy-28y
Correct Answer :-

. 7)(2—10Xy-28y2

6) If 8 times a number is equal to 48, then the number is: / i TH TST BT 8 AT 48 &

IR g, a1 I@Im g

1.6
2.10
3.9

4.8

Correct Answer :-

(28)



7) If O is the centre of a circle with radius 10cm, and AB is a chord at a distance of 6cm from
the centre, then the length of the chord AB is: / '!T% 0,10 A B & qd dl h %, GﬁT
AB % | 6 O B gt IR TS oftar §, i Siiar AB &1 @ars gif:

1.8 cm /8 9T
2.9 cm /9 TH
3.10 cm / 10 94t
4,16 cm / 16 THI

Correct Answer :-

« 16cm/ 16 99t

8) One morning, Diya observed a rose in her garden .On the second day, she observed two
roses. On the third day, she saw four roses; and on the fourth day, eight roses. If this pattern
continued, how many roses will be there in the garden on the 20th day? / U {dg, dar+

370 T & T e ¢ | g &1, S & Tare ¢ | ek 1o, S 9R Jae 4
3t ) o, 3ime TTaTa | R Tg Aet ot 7@, &Y 209 R T A e Tere €

1.2°
2.2°
3.219
4. 10

Correct Answer :-

9) Find the least number that must be added to 13325 to obtain a perfect square. / §h 'lIUf

T YT H3 & 1T 13325 | i At AT IS WSl S+ =miee|
1. 131
2. 151
3. 161

4. 141

Correct Answer :-

o 131

(29)



10) By selling a sari for Rs.1080, a shopkeeper earns 8% profit. The cost price of the sari will
be: / 1080 ¥ T TP ATS! dUDB, TH GHIGR 8% ATY HHTAT ¢ | ATST B ARTA D Hd

1. Rs.900 /900 =
2. Rs.1000 /1000 =
3. Rs.1100/ 1100 >

4, Rs.800 / 800 &

Correct Answer :-

« Rs.1000/ 1000 =

11) The dimensions of a cuboid are in the ratio 4: 3:1. If its volume is 8748 Cubic cm, find
the total surface area of the cuboid. / Th T B ﬁ'FIT[{ 4:3:1% S{UTd H %'I ?T% R Cdl
ST 8748 T T B, A TR &1 a1 T3 1T &t g

1. 3078 sqem / 3078 ¥ HT
2. 2322 sqem / 2322 O THT
3. 4422 sqem / 4422 I I

4. 5622 sqem / 5622 I THY

Correct Answer :-

« 3078 sqem / 3078 AT JHT

12) The unit digit of the cube of 862 will be ./ 862 & °-T BT §HhIg 3 ___ BRI
1.4

2.6

3.2

4.8

Correct Answer :-

13) The perimeter of a rectangle is 72 meter. If one side of the rectangle is 12 meter more
than the other side, the measure of the sides are: / Tdh Tdd hT URHY 72 Iﬂﬂ%l qﬁ
ST Bt TP YT gt Y1 A 12 Hiew 31 §, af Yowaii &1 A1g ghm:

(30)



1.16m,24m/ 16 |, 24 At
2.20 m, 24 m /20 HI, 24 H
3.18m, 30 m/ 18 11, 30 Ht
4.12m,24m/ 129, 24 W

Correct Answer :-

e 12m,24m/12 W24 A

14) The probability that a red card will be drawn from a pack of 52 playing cards is: / 52

T & Ul 9Tl U Up | U oTed Ul b &1 UTiehd1 git:
1
2

1
5

LA |

15) Name the watery fluid in which blood cells float. / 3 U-IAl d BT ATH FaTSC, FoTaH IHd
PIRIATT A=<l §

1. Blood /X% d

2. Serum / ARHA

3. Plasma / STAgqy (WITSHT)

4, Lymph / TR (TTHW)

Correct Answer :-

« Plasma / SIIIgqd (WITSHT)

16) Name two protein containing Rabi crops: / a ﬁ?-ﬁ &1 B Bl & A qdisy IGEERIGIE]
U1 ST &:

1. Coconut and til / HTW g faa
(31)



2. Pulses and gram / qIel Ud o1

3. Cotton and jute / HUTH T UcH

4. Tea and coffee / ITT TG PG

Correct Answer :-

e Pulses and gram / qIdl gd =1

17) Which one of the following is the most ductile metal? / fFrafufea & 3 &5 @ U UTq RGR
T

1. Zinc / ST
2. Gold / Tul
3. Copper / di¥l
4, Lead / 1T

Correct Answer :-

. Gold /Ul

18) How many daughter cells will be formed when 4 mother cells divide once? / S1q 4 ST

?mmmm % IR fauriora it & af fpanit Jafa SifRred @fer Je@) Squ

1. 16
2.4
3.2

4.8

Correct Answer :-

19) The metal released in electrolysis gets deposited on the ./ %gqa-&rtraz‘rr | SIqgpd G|
qrat 4T TR ST gl B

1. sides of the container / %qé AR
2. cathode / %thtt:
3. half on the anode and half on the cathode / Q:ilg TR 3T U1 %?-hg O 31T

4, anode / Q'_'i S

Correct Answer :-

e cathode / %Q‘n_é

(32)



20) The shape of the orbit in which a comet revolves around the sun is: / PET 4| Gﬂq’_ﬁ, ﬁf\‘lﬁw

YAPbg gd & IRI SR gHaT 7, Tl o:

1. Circular / 9l
2. Semi-circular / H@C-W
3. Parabolic / TRGA-I®

4. Highly elliptical / 3@ ¥ ¥ GHIqdIBR

Correct Answer :-

« Highly elliptical / 3@ ¥ Y SrAGIAHR

21) Who coined the term protoplasm? / X[dq ‘tﬁzﬁuﬂm’ o= fafa fear
1. Rudolf Virchow / W faat

2. Purkinji / Gfeboht

3. Robert Brown / Jdc 134

4. Robert Hook / TIV_GIT:YE$
Correct Answer :-

« Purkinji / gfdon

22) The term gene was coined by . / T S, % gRT ufauried fear
g1 YTl

1. Mendel / Agd

2. Johannsen / SIgT9
3. Darwin / I

4. Watson / dicy+

Correct Answer :-

« Johannsen / ST

23) Amoeba : unicellular :: : multicellular/ 3rHfiaT: EWW

1. Euglena / T?ﬂ:ﬂ
2. Chlamydomonas / ENIERILIGIR

3. Bread mould / S AIS (@T‘ﬁaﬁm)

(33)



4. Paramecium / TRTHIR™H

Correct Answer :-

« Bread mould/ S HieS (@Iﬂﬁm)

24) The screen on which the image falls in the eye is: / H‘”@ﬁagmmwwﬁ Gﬂ?ﬁ%:
1. Lens/ KB

2. Cornea / ducd (ﬁﬁm)

3. Retina / Ef¥ued (fe)

4, Iris / URATRT (SATZR)

Correct Answer :-

« Retina / EBuea (Xfe)

25) The vein that does not transport deoxygenated blood is )
fyeiferitefa wftR uftasa 7 &4 arelt RRT gl

1. superior vena cava / T IR
2. hepatic portal vein / Id HdligdT RRT
3. pulmonary vein / BUGY fRRT

4. renal vein / gab TRRT

Correct Answer :-

« pulmonary vein / WY AR

26) The microorganism that acts as the fermenting agent in the conversion of sugar into

alcohol is: /ﬁmﬁgqﬁﬁﬁﬁﬁm%mﬁwmﬂﬁmwmﬁ
CaSIGIR

1. Penicillium / U-INToraH

2. Lactobacillus / dide] SRy
3. Rhizobium / JSSNGTH

4. Yeast / THR

Correct Answer :-

« Yeast/WHR

(34)



The cause of change in motion or change in the state of motion is:/ Tfa &t Gﬁﬂﬁﬂﬁ

ufad a1 1fd # ufkad= &1 FRUI8:
1. Friction / TH0T
2. Force /dd

3. Atmospheric pressure / aTﬂTI?:?ﬂH ald
4, Pressure / GI9

Correct Answer :-

« Force/dd

28) Which one of the following plant parts is not used in vegetative propagation? / IRLS IR

H I G BT P9 °T U, I98fa yaei= A sTaara 981 fpar sirar g2
1. Flower / T
2. Stem / 4l

3. Root / Hdl
4. Leaf / Tqat

Correct Answer :-

» Flower/ Tod

29) The area of a trapezium is 1200 sq.m. If the distance between the two parallel sides is 20 m
and one of the parallel side is 70 m, then the length of the other parallel side is: /TH JHA] BT

ATme 1200 9 6t ®1 Tfe S wHiaR Yemens & o B gt 20 W R SR TH qHiGR Y
70 T 8, o gl qHiaR YoI & daTg ghi:

1.30m /309t
2.50 m/ 50 |
3,70 m /70 |

4.90 m /90 H

Correct Answer :-

« 50m/50H

30) The word B appears in a plane mirror as & due to: / 3[&X B Wmﬁmw g

1. Dispersion / LIl
2. Lateral inversion / tlTQfa gRaa

(39)



3. Wrong positioning of the mirror / aqur &1 TTerd fufd
4. Reflection / TRTATH

Correct Answer :-

 Lateral inversion / unzia gRad

(36)



